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circumference to guess the
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Jinkouki says that
(upper ring’s circumference+ lower ring’s circumference) X 12 =length of all thread. ...[D

when 1 is big and the radius will be
->Because wind 24 rounds

single-wheel , the system which is else was the all circumference

Upper ring’s radius — a ax2xm=2ar Upper ring’s circumference

Lower ring’s radius —24 a 24a x 2 xmw=48anm  Lower ring’s circumference

ByD (2am+48am) x 12 = 600an @
2ar + 4am + 6am + 8ar + -+ + 48arw = 600arw @
When all this is generally considered using the character, as wind 1 round, b increases.
Upper ring’s —a 2 X a X = 2amupper ring’s circumference
Lower ring’'s —a+bc—>b (a+bc—b)x2xm=2n(a+ bc—Db)
The wound number Of times —c lower ring's Circumference
{2am 4+ 2m(a 4 bc — b)} X 7€

The radius which is upper ring as supposition a.

ct(2a — b + bc)

I use geometric progression and add by one of them. .
It leads to the top right corner.
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Each member used proud subject.
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Problem was part we were dealing with.
To grasp the flow, it is desired than be a problem for
other team.

The most difficult thing was translating into English.
We thought that it is important for us to judgement

the right English word.
So we want to careful.

I demanded it by Jinkouki
T demanded it by geometric progression mathematically cr(2a — b + bc) @
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2arm + 4ar + 6ar ... + 600ar
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Sn=the total —The total when I would up n laps Q

a=The first term —2an

n=The number of the clauses —c¢
1=Last article —2am + 2bcm — 2bm
Formula applyS, = %n(a +10)
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Sp = Ec(Zan + 2cm + 2bcm — 2bm)

=cn(2a—b + bc)
ct(2a —b + bec) D

Because O and @ is equal, It is proved solution of Jinkouki is right.

A person in charge: Araki, Izawa and Isimatsu
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